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Subject: BGS
Chapter-7
Worksheet- 6 on full chapter

After reading the whole chapter students will solve the MCQ and CQ
from text book and following MCQ and CQ.

MCQ:

1. Which type of Government is getting power by heredity?

a) Dictatorship c) Republic
b) Constitutional monarch d) Federal
2. What types of Government of Bangladesh is?

i) Parliamentary
i) Republic
iii) Federal

Which one of the following is correct?

a) i& i c) ii & i
b) i& iii d) i, i &iii
3. When was the first session of “ Gonoparishad” held?
a) 4th March, 1972 c) 30th October 1972
b) 10th April, 1972 d) 4th November 1972

4. Who appoint the speaker and deputy speaker?
a) President c) Member of Parliament
b) Prime minister d) Chief justice

Read the following stem and answer the question no. 5 & 6:



Mr. A is the chief of a local Government organization. He and his other members have
been elected indirectly.

5. Mr. A is the chief of which organization?
a) Union parishad ¢) Pourashava
c) District council d) upzilaparishad

6. The function of that organization-
i) To build educational institution
i) To build orphanages
iii) Registration of birth and death
Which one of the following is correct?
a) i& ii c) i & i
b) i& il d) i, ii &iii
7. What is meant by Nationalism?
a) National identity
b) National unity
C) National consciousness
d) National tradition
8. From which center, government of Bangladesh governs the country?
i) JatiyaSangshadBhaban
i) Secretariat
i) Supreme Court
Which one of the following is correct?
a) i b) i
c) il & i d) ii
Read the following passage and answer the question no. 5&6:

Mr. Asif is the chief of a local government in urban area. Of His organization is
maintaining the public health, education and public welfare activities of own area.
There are 325 offices of this local government in Bangladesh at present.



9. Mr. Asif is the chief of which organization?
a) Union Parishad b) Pourashava
C) City Corporation d) UpazilaParishad
10. Indicated organization___
) Consists of one mayor
i) One councilor is elected from each ward

iii) The number of members can be more or less on the basis of territory and
population

Which one of the following is correct?
a) [ C)i & i

b) & iii d)i,ii& iii

cQ:

1.Mr. Mizan has been elected as a chairman for five years in his locality. He has 15
members. This year he has constructed a bridge on the canal, established pure drinking
water system and drainage system for the local people. But the inhabitants require more
facilities for their living. He has work to do more but he cannot do of his own. Some of
the members have different opinion with him.

a)How many seats are reserved for women in Union council?
b)What do you mean by Local Government?
¢) In which organization Mr. Mizan is chairman? Explain its formation.

d)Do you think, the work or responsibility performed Mizan is enough? Give your

opinion.
2.
Organization Formation
A Head of the institution is Mayor and total 12 institutions in
Bangladesh.
B Head of the institution Chairman and total 61 institutions in
Bangladesh




a) How many constituencies are there in Bangladesh?
b) Explain the functions of legislative group.
c) Describe the functions of organization A indicated in the above chart.

d) “Organization B can play a great role to establish good governance in
Bangladesh” Analyze the statement.
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